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Q1.
Choose the correct option for follorving questions. All the Questions are
compulsorv and carry equal marl<s

I Which is not true about Erirbedded system?
Option A: Execution behavior lxay be deterministic
Option B: Is Built around specialized hardware
Option C: Always consists of Operating system
Option D: Sensors may be used

2. Which of the following is ernbedded system for clata communication?
opt on A: USB mass storage device
Op onB Netv,,ork r'outer
Op onC Music system
Ontion D Di ital camera

). Holv many cycles are requiled to execute 5 instructions in four stage pipelines?
Option A: 8

Option B:

Option C: 9
Option D: 5

4. To speed up processing of data. cache memory is used. cache memory mean
Option A:
Option B:

It is data memory_.111:v!1ich program is store
It is offchip memory

Option C It is Prcgram menrory which is used for storins data
Option D It is local copy of a portion of memory which need frequently

5. RS485 is -------
Option A: _Long distance Data transmission protocol
opt on B: Sinall distance
Option C Wireless communication protoco I

Option D Electrical Bus interface

6. ZieBee coor dinator device
Option A: Create netr,vork
Option B: Join existing netu,ork
Option C: Doesn't alloiv to ioin nerurork
Option D: Only broadcast thc Jiiia

7. In preemptive ntultitask ing
Option A Each process scts cqual chance for e:tecution
Optiun B The execution of ploccsl;es is preempted based on the scheduling policr
Option C: Process doesn-t set resllnte
Optiorr D: )c'ess u,ai1 lbr other process.No en
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8. Which scheduling policy is most sui
Option A: Shortest job first
Option B: Elevator
Option C: Round Robin
Option D: First cum first serve

9. In IPC message passing is relatively fast because
Option A It is free flom synchrcnizationoverheads
Option B It schedules the processes Optimizely
Option C: Allow only "ingle hop communication
Option D: I Terminated with high irnpedance

10. In the Automatic chccolate vending machine the reprogrammi.rg .ot codes or
relocaticn of code is not needed when

Option A: The price of chocolate chanses
Option B Advertisement is changed
Option C Macirine is relocated
Opticn D: Uggryq. fti[re changes

Soive any Trvo Questions out of Three

Compare the follou,ing
I ) Embecided Systems and General Computing Systems
2) CISC and RISC architecture of the processor

Explain coffee vending machine iu detail

Define the terms Thrr-',ughput, Turn Around Time and Waiting Time scheduling
ofprocesses. Compare threads and processes of'real tirne operating s e,Tt

Solve any Trvo Questions out of Three 10 marks each

Develop FSM model for following model. Driver/passenger seat Gtt systern,

generate alerm for 5 second jf vehicle ignition is turned ON and seat belt is not

fastenetl rvithin i 0 seconds. Alarm will be turned off after expiring its tirne (5

SeconC) or driver/passenger fasten the seat belt cr ignition is turned off before

expire time.

Explain design of CCD as a custom single purpose processor with the help of
controller, data path and program.

Describe [2C protocol rvith read and write cycle.

marks each
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Q4 Solve any Two Questions out of Three 10 marks each

A Explain operating System Architecture with the help of block diagram.

B

Three processes with process IDs PL,P2, P3 with estimated completion time 10,

5, 7 milliseconds respectively entered the ready queue together. A new process

P4 with estimated completion time 2 ms enters the Ready queue after 2 ms. Ii
scheduler is using Shortest Job Firsr preemptive scheduiing algorithm, Calcuiate

average waiting and average Turn Around Time (TAT).

C Fxplain Adaptive Cruise Co,rtrol in car with the help of its components.
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